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Turing M

M:(Qv z ’ Kv qO: F)

Q={do, 41, 02, 43, Ua, s, U6, 07, s}, Z ={B, 1}, F={qg}
K={qoBBLq:, 0:11BRq,, g:BBRgs,

0411Lq4, 94BBLQs, 9s11L0s, gsB1LQ1, gs11Rqs, qsBBRQ7, q711RQ7, q7Bqu8}

0s11Rqs, QsB1LQa,

_1QOB
=11qoB
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19:1B (qoBBL0ay)
1BQq2B (911BRQy)
1BBqsB (q2BBRQ3)
1B q4B1 (gsB1Lay)
1gsBB1 (q4BBLQs)
0111B1 (gsB1Lay)
Bo21B1 (q:1BRay)
B102B1 (0.11R0y)
B1Bgs1 (q:BBRQs)
B1B1gsB (qs11Rqy)
B1Bq411 (qsB1Lay)
B104B11 (q411L0u)
Bgs1B11 (qsBBLQs)
gsB1B11 (gs11LQs)
0:B11B11 (gsB1Lq,)
Bgs11B11 (q.BBRqg)
B1gs1B11 (gs11Rqe)
B11qgeB11 (gs11R0e)
B11Bq711 (qsBBRqy7)
B11B1q-1 (g711Rqy)
B11B11q7B (g711Rqy)
B11B111qsB (q7B1Rgsg)

=B1BS(1)qsB




